Math 3
 







Name: _________________________
Mod 3, Day 13






Date: ______________ Period: _____
Practice:  Graph Polynomial Functions With Non–Real Zeros & Name an Equation of a Polynomial
Part 1:  Determine all the zeros and sketch the graph of 
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on your own graph paper.  Label all intercepts!
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Degree: ___

Zeros: ____________
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Degree: ___

Zeros: ____________
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Degree: ___

Zeros: ____________
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Degree: ___

Zeros: ____________
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Degree: ___

Zeros: ____________
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Degree: ___

Zeros: ____________




Remember: when there is a complex zero there is always a ____________________________. 

Part 2:  Find a standard (expanded) form equation of a polynomial with the given zeros. 
	a)  cubic polynomial with zeros x = 2 and i.


	b)  quartic polynomial with zeros x = (3 and 
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	c)  quartic polynomial with zeros x = 4i and 
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	d)  5th degree polynomial with zeros x = 1, i, 2i.



Mixed Practice  
	1. Determine the polynomial function 
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.  Write your answers in factored form.
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	2.  Determine all the zeros and sketch the graph of 
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	3.  Evaluate each of the following.

	a)  
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	4.  Simplify.  Write answers in 
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	e)  
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	6.  Factor completely across the rationals.  Watch out for GCFs and difference of squares!
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